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The objectives we are working on in detail this week are:
To recognise and write decimal equivalents to ¼ , ½  , ¾
To estimate, compare and calculate different measures, including money in pounds and pence
This week on Monday, you will start by rounding decimals. On Tuesday, you will be using halves and quarters and their equivalent fractions. On Wednesday, you will be using money and solving problems involving money.  On Thursday, you will be ordering money, and on Friday, you have some maths challenges to try to complete!

Using the link below, click on Summer Term Week 2 and each day watch the video and complete the accompanying task (these are printed in your pack), recording the answers in your book. Lesson 1 – Monday, Lesson 2 – Tuesday, Lesson 3 – Wednesday, Lesson 4 – Thursday and lesson 5 – Friday. 
https://whiterosemaths.com/homelearning/year-4/

Have a go at this Classroom Secrets Kids games all about decimals! Enjoy!

https://kids.classroomsecrets.co.uk/resource/year-4-hundredths-as-decimals/

https://kids.classroomsecrets.co.uk/resource/year-4-order-decimals/
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Halves and quarters
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Challenge 1

This is half of Lee's strawberries.

How many strawberries does Lee have?

This s half of Lee's shape.
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Challenge 2

Tom has six 10p coins and three 5p coins. He buys an apple for 59p and two.
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He has no money left. How much does a pencil cost?
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Challenge 3

Stickers come in packs of 5.

Max buys 12 packs.

He gave his three friends some stickers.
They each receive the same number.
He has 27 stickers left.

How many stickers did Max give each of his friends?
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Challenge 4

Here are 3 containers.

« The jug can hold 1500 mL.
« The bucket can hold 2 litres.

« Thebarrel can hold 15 litres.
Anisa wants to fil the barrel with water.

Find 2 ways that Anisa can fill the barrel using the jug and bucket.
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Challenge 5

Three identical squares are arrange to make this pattern

Whot is the size of the angle marked x?
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